Practice Quiz Ch 5, 6
  2007               
AP* Chemistry

1. Consider only transitions involving the n=1 through n=5 energy levels for H atom (where energy level spacings below are not to the scale)

a. How many emission lines are possible, considering only five quantum levels?

b. Photons of highest frequency are emitted in a transition from the level with n=______to a level with n=___.

________ n=5

________ n=4

_________ n= 3

_________ n=2

_________ n= 1

2. Calculate the energy required to remove an e completely from n=2 level. Also calculate the longest wavelength of light that can be used to cause this transition. 

3. The correct set of quantum number for the unpaired electron of chlorine atom is

a. n=2, l=1, m=0

b. n=2, l=1, m=1 
c. n=3, l=1, m=1       d. n=3, l=0, m=0

4. Standard heat of formation of CH4, CO2 and H2O (l) are –76.2, -394.8 and –241.6 kJ/mol. Calculate the amount of heat evolved by burned 1 m3 of CH4 at STP.

5. Write electron configuration of K + ion.

6. A student placed 50.0 ml of 1.00 M HCl at 25.5 0C in a coffee cup calorimeter. To this he added 50.0 ml of 1.00 M NaOH solution also at 25.5 0C. The temperature of this solution quickly increased to 32.20C. What is the energy evolved in joules/mol of HCl? Assume solution’s specific heat is 4.12 j/g-0C. The density of 1.00 M HCl is 1.02 g/ml and that of 1.00 M NaOH is 1.04 g/ml.

Answers:

1. a. 10 emissions  b. 5,1

2. 5.45 X 10-19 joules, 3.65 X 10^-7 m or 365 nm

3. c

4. 3.579 X 103 kJ

5. [Ar]

6. –58 kJ/mol

